- TAO NAN SCHOOL
HOLISTIC ASSESSMENT MATHEMATICS TEST (3) 2018

. Name: -

" Closs: . -

‘Date: 11 May 2018

Parent's sign.q’rure:

Section A {5 x 1 mark}
Choose the correct answer.
Write its number in the brackets provided.

1. What is the value of the digit ‘2’ in 258 ?

(1) 2
(2) 20
{3) 200
(4) 258 )
2. Which of the following has a value smallef than 5 ?
i 42
E (2) 2045
(3) 24+4 |

(4) 30=+3 { )



1y 5
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(4 19 ( )

-100 = 350+ 20

What is the missing number 7
(1) 270
(2) 330 -
(3) 370

(4) 470 . ( )



The pencil below has a length of 20 cm. What coufd be c:n
' eshmoted length of the pair of scissors ? :

CPencll g

B W A

Scissors
(1} 10cm
(2) 17cm
@) 22em
(4} 4cm { )



Section B (8 x 1 mark)
- Read the questions carefully. A
' Write the correct answers in the spaces provided.

© 6. Wiite 697 in words.

7. Fill in the box with the correct digit.

7 ] 7
. 9
5 6 8 )

8. Multiply ¢ by 5. The answer is




9. Last Saturday, Sean wcikea from his house to the school.
- ._,T_h_en,..he.,wclked_1_0..1he.plc1yground.u. e A
Finally, he walked back to his house.

How far did Sean walk in total ?

Seap’s house School

407 m

Playground

 Seanwalked | | mintota.




- 10. Abby‘hos $10. How many bottles of milk can she
7 buywith all her money?

Abby can buy botties of mik.

11. The digit in each of the boxes is the same. Find the missing digit.

6 9
+ 8 2

9 1 1
The missing digit is



12. There are 4 boys and 3 gms on da bus.
There are 2 times as many adults as children on The same bus
How many adults are ’rhere on the bus ?°

There are adults on the bus.

13.  Look at the pictures below.
What is the mass of the mango ?

mango

- The mass of the mango is g.




: 'Sechon C (1 X 2 mcrks)
; _._Read the quesﬂons carefully. |
l Show your worklng nd number sentenc es clearly

4. Nicole has $]8
She has $10 less than Bryan.
How much money do they have ol’roge’rher ?

They hcve-$ _ »GHOQé_fh"e‘r.”

The End



ANSWER KEY

YEAR - :2018
" LEVEL  :PRIMARY 2
SCHOOL : TAO NAN
- SUBJECT : MATHEMATICS (TEST 1)
TERM  :-

Q1) 436

Q2) Seven hundred and ninety-three
Q3) 500

Q4) 684

Q5) 539

Q6) 368

Q7) 577

Q8) 690

Q9) 381

Q10)5



ANSWER KEY

YEAR  :2018
LEVEL. - : PRIMARY 2
~ SCHOOL :TAONAN

SUBJECT : MATHEMATICS (TEST 3)

TERM 1 -

SECTION A

Q1 |3 Q2 |2 Q3 |1

Q4

Q5

SECTION B

Q6) six hundred and ninety-seven
Q7) 4

Q8) 45

Q9) 791

Q10)5

Q11)2

Q12) 14

Q13) 600




SECTION C
-_'Q14) 1s+10 28
28+18=46

They have $46 altogether E

" END
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